Special Applications of TRIM
Using TRIM for Isotopically Enriched Targets

TRIM assumes that a target has the natural abundance of isotopes, e.g. that lithium is made up of 7.5% of Li6 and 92.5% of Li7. Follow the steps below (using the example of an enriched target with 90% Li6 and 10% Li7 ) :

· During the TRIM setup program, go to the TARGET DATA section.

· Use the Periodic Table PT to specify the target atom, Li . 

· In the window specifying its weight, change it to 6.015 (mass of Li6)

· In the window specifying its Stoich, change it to read 90.

· Press Add New Element to Layer
· Use the Periodic Table PT to specify the target atom, Li .

· In the window specifying its weight, change it to 7.016 (mass of Li7
· In the window specifying its Stoich, change it to read 10
This target now is made of 90% Li6 and 10% Li7. For elements with more isotopes, you may specify the element up to twelve times, for up to twelve isotopes.
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